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SUDOKU XV - liar
Fill in the whole grid with numbers from 
1 to 9 so that no digit is repeated within 
a row, a column or an outlined 3x3-block. 
All pairs of orthogonally adjacent cells 
containing numbers whose sum is exactly 
10 have been marked with X. All pairs 
of orthogonally adjacent cells containing 
numbers whose sum is exactly 5 have 
been marked with V. All marked symbols 
except one are correct – i.e. all but one 
indicate the sum of the numbers in two 
adjacent cells. It is a part of the solution 
to discover which of the given symbols is 
redundant.


